NAME:

SCORE

BASELINE \




R BASELINE 5

1.

EEEEEEREEREERERE

15.]
[16.]
(17 ]
18]
[19.]
20.]

4x5=
4x7 =
4x8=
4x4=
4x3=
4x9=
4x11=
4x12=
4x3=
4x1=
4x8=
4x6=
4x7=
4x9=
4x12=
4x11=
4x2=
4x1=
4x10=
Ax9=__
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4x8=
4x5=
4x3=
4x4=
4x6=
4x9Q=
4x10=
4x7 =
4x2=
4x1=
8+4=
16+4=
20+ 4=
36+4=
40 +4 =
48+ 4=
28 +4 =
24 +4 =
12+4=
4+4=

Date:

Name:

SCORE: \ /60

(5 minute limit)
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59

40+4 =
44 + 4 =
32+4=
20+ 4=
28+4=
24 +4 =
8+4=
4+4=
36+4=
44 + 4 =
28 + 4=
16+4=
12+4=
32+4-=
20+ 4=
48+ 4=
40+4 =
24 +4 =
4+4=
8+4=

/ TIME TAKEN (optional)

MINUTES SECONDS
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Complete first and then use it to help you if you get stuck.

Name: MULTIPLICATION 1

Date: Practise 4s
axit=___ 4x9=____
4x1= 4x4= 4x5=
4x2= _____ 4x10 = 4x3=
4x3= 4x8= 4x2=
4. 4x4=
e - 4x9= 4x12=
4x5=
@ ixc 4x1= 4x10=
X =
AxT = 4x3= 4x11=
BN 4x3- 4x12= 4x1=
m 4)(9: 4X4= 4X5=
4x10= 4x9=__ 4x7=__
4x11= 4x8= 4x8=__
4x12= __ Ax7 = 4x11 =
tinueZere; Ax11 = 4x10=
. X /=
Ax 1= Ax7 = Ax6=
Ax8= 4x1= 4x9=
Ax 12 = A4x12= Ax4=
4x10=__ 4x2=__ 4x3=__
4x9= 4x5= 4%x6=
4%11 = Ax4=__ 4x9=__
4x3= 4x6= Y 4x11=__
Grown-ups:
Q % sco R E ] \ Can learners spot links %
[ between neighbouring
questions?
3
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Complete first and then use it to help you if you get stuck.

X
o
@)
~
w
®)
X

LD
Rk

4x1= 1x4= _
B 4x2= _ = WA 2x4= _
B 4x3= _ = B 3x4= _
4x4= 4x4=
4x5= 5x4= _
B 4x6= o6x4= _
BA 4x7= __ B 7x4= __
B 4x8= gx4= _
BN 4x9= _ = BN 9%x4= __
I 4x10= _ BX 10x4= __
B 4x11= _ B 11x4= __
B 4x12= _  BPA 12x4= __
tinueZe:(e;i-.z— Ixd=
- axi= [34] 8x4=__
m 5x4= 35 ] 4x9=__
B 4x6= Ed 11x4=__
6xd= 4%12=___
4x5=__ 4x11=__
31 2x4=___ EX 4x2=___
4x 4= 1x4=

L

MULTIPLICATION 2

Practise 4s
3x4=

—_

EE BRSNS EEEERRRBEEER
d B N R OB OB B N O HOE BN N O BN BB OB B B
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N
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Grown-ups:

Can learners spot links
between neighbouring

questions?
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4x5=
8§x4=
4x7 =
4x8=
12x4=
4x4=
2x4=
4x1=
5x4=
11x4=
1 x4=
12x4=
7x4=
Ox 4=
6x4=
5x4=
10x4=
3x4=
4x3=

&



Complete first and then use it to help you if you get stuck.

X
o
N
~
w
®)
X

M 4x

B 4x
BN 4x _
B 4x
B 4x _
B 4x
BN 4x _
B 4x _
BN 4x
M 4x
B 4x
B 4x _
Continue here

B 4 x

B 4x
B 4x
¥ 4x
A 4x _
BB 4x
B 4x
B 4 x

LD
Rk

4x =20 4 x
= 4x _ =8 4 x
= 4x =24 4 x
=12 4x =48 4%
- 16 4x =40 4
Zij 4x =36 4 x
_5g 4x = 4 x
-3 4x =28 4 x
=36 4x =16 4 x
= 40 4x =12 4
=44 4x = 4 x
=48 4x =44 4 x
16 4x =32 4 %
4 4x =20 4 x
40 4x =4 4 x
_ 36 4x =16 4
_ 48 4x =24 4 x
=44 4x =28 4 x
=32 4x =36 4 x
=28 Ax =48 [ 4x

Grown-ups:

Can learners spot links
between neighbouring
questions?

/
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MISSING NUMBER 1

Practise 4s
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Name: MISSING NUMBER 2

Complete first and then use it to help you if you get stuck.

Date

ROCK BOX 4 x

4 x = 1 x . 4x
4 x = 2 x . Ax
4 x =12 B 3x =12 1o

4 x =16 B 4x =16 .

EX 4x =20 5 x =20

4 x =24 6 x =24 >

4x - 28 7 x - 28 4>

4 x =32 8 x =32 11 x

4 x =36 9 x =36 4 %

4 x =40 BEJ 10 = 40 4 x

4 x =44  B¥ 11 x =44 4 x

4 x =48 B 12 = 48 4x
tin:lexh:=36 1x____ =4 4
Ox___ =36 EF 11x = 44 ax

4% =24 9x_____ =36 4%

7 x =28 4 = 48 2 x

8 x =32 4 % =28 8

4 % = 44 5x____ =20 Tx____
EN 12 x =48 4x___ =24 O9x__
4 x = 3 x =12 BY 12 x

Grown-ups:
[ ] Can learners spot links
[ between neighbouring
questions?
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Complete first and then use it to help you if you get stuck.

EEERENERSRRN A

8+4=
12+ 4=
16+4=
20+4=
24+ 4 =
28 + 4 =
32+4-=
36 +4=
40+ 4=
44 + 4 =
48 +4 =

X
o
0
A
o)
o
X

Q{Z SCORE: \

Continue here...

—_ —_ —_ —_ —_ —_ —_
O Lo ~ on n . o

48 + 4=
32+4=
40+ 4 =
24 +4 =

N No N N N
(@)} Ul N~ w N

~

O

N

) ) w ) w ) w w w N N N )
5 oo ~ on o : L N = ¢ O & ; ‘ ! : : ! =

w
O

questions?

DIVISION 1

Practise 4s

BN 36+4=_
R2+4=___
8+4=__
24+4=
28+4=__
24+4=
20+4=__
2+4=__
8+4=__
4+4=__
16+4=__
36+4=__
12+4=__
2+4=__
4+4=__
E¥ 40+4=__
48+4=__
28+4=__
20+4=___
Yy 24+4=__
T R
7
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Name:
Date

E| ROCK BOX

% 4+4= 4+1=

i 8+4= 8+2=

g 12+ 4= A 12:3=

4E0  16+4- B 16:4=

I  20+4- 20+ 5=

% 24+ 4= 24+ 6=

4@ 28:4- 28+7 =

u 32+4= 32+8=
36+4= 36+9=
40+4 = 40+10=

44 + 4 = 44 +11 =

48 + 4= 48 +12 =
Continue here...

20+5=__ 24+ 6 =
12+4=__ 20+4=__
20+4=___ 24 +4=__
40+4=__ 36+9=___
12+3=___ A4 +11=__
4+4=___ 36+4=__
4+1=__ 16+4=___
8+4= 28 +7 =

DIVISION 2

Practise 4s
32+8=___
24+6=__
20+4=__
48 +12=___
40+4=__
12+4=___
28+4=__
4+1=__
44q+4=___
16+4=___
36+4=______
2+4=___
36+9=__
32+8=__
40+4=__
24+4=__
8+2=___
12+3=___
28+4=__
B 20+5=
Grown-ups:

questions?
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Can learners spot links
between neighbouring
8



—
(@)

EEEERRERERERER

2

13 ]
[14.]
15 ]
16.]

17 ]
18]
19}
20,4

CHECK 1 &~

4x8=

4x2=
4x5=
4x4=
4x3=
4x6=
4x7 =
4x10=
4x12=
4x1=
4x9=
4x2=
4x11=
4x7 =
4x9=
4x4=
4x3=
4x6=
4x1=
Ax5=__

[21

22 ]
23 ]

N N} N N
N o U N

N
0]

O

N

w w w w
O oo ~l (@)

N ) ) ) w ) w N
o N ¢ : ¢ Uil ; - N = . O ( ; ( ! :

Name:

Date:

4x8=

4x10=
4x12=
4x9=
4x2=
4x1=
4x5=
4x4=
4x3=
4x6=
12+4=
24 +4 =
36+4=
20+ 4=
40+ 4=
4+4=
44 + 4 =
48 + 4 =
32+4=
16+4=

SCORE: \ /60

(5 minute limit)

/

TIME TAKEN (optional)

N

1

EEEREEBEEREEEREEEREE R B
O I OO I~ I O I " N -~ N - I ™ B — B © B O I OO I~ [ O I - I -~ . - B " B

Ul
~l

58

59

8§+4=
40+4 =
32+4=
4+4=
20+4=
36+4=
28 + 4 =
4+4=
40+4 =
48 + 4 =
16+ 4=
24 +4 =
20+ 4 =
12+4=
40+ 4=
44 + 4 =
36 +4=
4+4=
8§+4=
16+4=

MINUTES SECONDS
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Name:
Date:

[ 1] 5x4=___ B¥
[ 2. ] 3x4=___ B
[ 3 ] 4x3=___ X
[ 4. ] 7x4=___ PA
[ 5 ] 4x4=___ B
[ 6. ] Ax7=___  HE
[ 7 ] 4x5=__ B
B 8x4=___ = B
Ex 4x9=___ EX
I 11x4=___ = EX
4%x12=___
Bl 12x4=____ = &
13 ] Ax1=__  EX
B 10x4=__ EA
(15 ] 7x4=___
[16] 4x6=____ K
[17] 4x3=___ EA
18] 4x1=___  EX
[19] 4x4=___  EX
(20 ] 4x8= 40 ]

LD
Rk

8x4=

4x4=
6x4=
4x9=
12%x4=
4x11=
1 x 4=
4x10=
11x4=
5x4=
3x4=
2x4=
4x7=
4x4=
3x4=
4x2=
4x9=
8§x4=

.

MULTIPLICATION 3

Practise 4s
Ax1=_____
B 12x4=___
Ax11=___
[ 44.] 7x4=___
145 ] 1x4=__
46 ] 3x4=__
Ax12=___
143 ] 4x9=__
49§ 6x4=__
150 ] 4x3=__
Ax5=______
By 4x10=___
53} 5x4=__
Ea 4x8=__
B 2x4=___
56 ] 4x4=__
(57 ] 4x7=___
58] 4x9=__
159 ] 8x4=__
60§ 4x6=

Grown-ups:
Can learners spot links
between neighbouring
questions?
10
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MISSING NUMBERS 3
Date: Practise 4s
BN 4x __ =44 B 4x =16 BN 4x ______ =4
4x =48 BH12x___ =48 B 11x____ =44
E¥ 7x = =28 B¥ 4x =32 B 4x =32
BN 4x =20 B 7x ___ =28 BEH9x =36
BN ox _ =3 BE5x_ =20 I 4x =36
B 6x =24 BE& 6x__ =24 HA 4x ______ =40
BN 4x =24 Bl 4x = Bl 4x ___ =16
B 4x =16 B 1x _____ = B 2x =

E¥ ox _ = =36 E¥ 4x =40 E¥ 1x _____ =

Iy 3x _ =12 EBE¥ 4x =44 E¥ 4x =32
B 4x = EN ox _ =3 BN 6x ____ =24
B 1x = B¥ 4x _ =16 B 4x =16
B 4x = EY 4x =12 B 4x _____ =20
¥ 4x _ =40 EF 4x ______ =40 B¥ 4x ______ =28
B 4x = E¥ 4x =12 BX 9x _____ =36
@ 7x _ =28 E#@ 5x__ =20 BEF 4x =44
5x __ =20 4x =36 BE12x____ =48
B 8x _ =32 EF4x =16 BI 4x =48
B} 4x _ =16 E&¥ 4x =4 BX 4x =12
4 x =28 6 X =24 ¥ 12x =36

Grown-ups:

Can learners spot links
[ between neighbouring
questions?
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DIVISION 3
Date: Practise 4s
28 +7 = 48 +4 = 32+4=__
28+4=___ 24+4=__ 36+4=___
12+3=___ 36+4=___ 28+7=____
8+2=____ 28+7=____ 4 +11=_______
8+4=__ 12+4=___ 4+4=__
B 16+4=__ 40+4=___ 4+1=__
0+4=___ 20+5=__ 40+4=__
B 44+11=__ 28+4=___ 36+9=__
EN 44+4=__ 16+4=___ 32+8=____
28+4=___ 24+4=___ le+4=___
20+5=__ 16+4=__ 32+4=___
48+12=____ 12+3=___ 24+4=__
48 +4=___ 36+9=___ 12+4=__
32+4=___ 40+4=___ 28+4=__
M+4=__ M+4=__ 12+3=__
20+4=__ 40+4=___ 48+4=__
24+6=___ 48 +12=____ 24+4=__
12+4=___ 4+1=____ 20+4=__
12+3=__ =_ 8+2=___
36+9-= = (60 ] 8+4=

N

(7p]

S

A

m
HEE:

Grown-ups:
Can learners spot links
between neighbouring
questions?
12
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Name: MULTIPLICATION 4
Date: Practise 4s
4x12=____ 4x1=___ 3x4=__
4x11=___ 4x4=___ 2x4=__
8x4=___ 4x9=__ 4x8=__
4x9=__ 3x4=__ 4x4=__
Ix4=__ 6x4=__ 2x4=____
[ 6| 5x4=__ 4x9=__ 4x1=__
4x6=______ 8x4=____ 4x1=_____
[ 8] Ax4=__ 10x4=___ 4x12=__
Ex 4x3=__ A4x11=___ 7x4=___
3x4=__ 6x4=__ 4x10=____
4x6=__ Ax6=__ Axd=___
4x]=___ 4x9=__ Ox4=__
4x10=____ 4x3=___ Ax6=___
12x4=___ 4x5=___ 8x4=__
4x11=___ 8x4=___ 4x4=__
A4x6=__ Mx4=__ Ax11=__
8x4=__ 10x4=__ 3x4=__
3x4=__ Ax1=__ 100x4=___
4x2=___ 4x2=___ 6x4=__
1x4= 5x4= (60 ] 4x9=

Grown-ups:
[ ] Can learners spot links
[ between neighbouring
questions?
13
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Ax =24 21 JIRY
O9x =36 7 4 x
8x =32 81 3 x
Ax =16 24 IS

4 x =20 ey 4 x

E R E R R BB BE BT S
= —~t
o 3
° 3
N
X
]
—
N)
E BN EEEBE N B
m LN
N
X

— — — — — — — — —
-~ O oo ~ o U1 = Lo N2 =
AN
X
Il
w
o
—
N
X

N
IN
X
I
N)
%)
3]
)
[0%)
X

MISSING NUMBERS 4

_ =20
__ =16
_ =12
_ =24

=28

=20
=36
=32

BN 4 x

5 x
4 x

N
W

4 x

N
Ul

EEEREEEEREEERERE BB
Ul
X

O x

N
~

N
X

48, I

ey ) x

Ul

oy 4 x

Ul

U7
8

AN
X

56. A
4 9 x
58. I

59, I

] X

Grown-ups:

Can learners spot links
between neighbouring
questions?
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Practise 4s
=24

=20
=40
=4
=36
=44
=28
_ =12



DIVISION 4
Date: Practise 4s
48 + 4= 40+ 4= 48+4=__
4 +4=___ 48 +4=__ 4+1=___
4+1=______ M+11=____ A+4=___
4+4=__ 28+4=__ 16+4=___
36+9=___ 28+7=____ 28+7=____
B 32+4=__ 16+4=___ 28+4=__
20+4=___ 20+4=__ 36+9=__
By 24+6=__ 36+4=___ 0+4=__
Bl 28:7=__ 36+9=__ M +4=__
40+4=___ 32+4=___ 8+4=__
12+3=__ 24+4=___ A +11=_____
8+2=__ 16+4=__ 12+4=_____
20+4=__ 4+4=__ 48+12=___
24+4=___ 20+5=__ 16+4=__
36+4=___ 28+7=____ 28+4=__
16+4=__ 8+4=__ 24+6=______
24+4=__ 36+9=___ 4+4=__
32+8=_______ 12+4=___ 8+2=__
A+4=__ M+11=___ 40+4=___
48+12=____ 24+6=______ K 4+1=

Grown-ups:

[ ] Can learners spot links
[ between neighbouring
questions?
15
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15

EEEREEREERRERERE

CHECK 2 &

4x9=

4x4=
4x12=

>~ BH

X X

(©) N OV
I

4x10=
4x12=
4x2=
4x1=
4x8=
4x4=
4x5=
4x7=
4x6=
4x10=
4x12=
4x1=
4x11=
4x9=
4x]=___

121

122 ]

N N N N N INS) N
O 0o ~ (@)} Ul N~ w

W
(@]

w w w w w W w w
O (0] ~l (@) U N~ w N

EEEEEEERBEEEEEERE REE
O —_

Name:

Date:

4x3=

4x10=
4x2=
4x4=
4x8=
AX6=
4x12=
4x5=
4x1=
4x7=
36 +4=
20+ 4=
16 +4=
40+ 4=
44 + 4 =
12+4=
24 +4 =
28 +4=
20+4=
32+4=

SCORE: \ /60

(5 minute limit)

/

TIME TAKEN (optional)

41

=~ AN

N

) U1 wul Ul ul U1 wn Ul IN N £ N N
! ¢ ~ % U o W N = O O 00 ~ o U1 - w N :

Ul
00]

U
O

36+4=
28+ 4 =
44+ 4 =
8+4=
40+ 4 =
48 +4 =
4+4=
12+4=
32+4-=
16+4=
28 + 4 =
12+4=
44 + 4 =
40+ 4=
20+ 4=
8+4=
28 +4 =
24 +4=
4+4=

MINUTES SECONDS
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